[image: ]
[bookmark: _GoBack][image: ][image: ][image: ]
image1.png
A ratio is a comparison of 2 quantities with the same unit.

» You can use ratios to compare
the numbers of white and
brown rabbits.

The ratio of white rabbits to
brown rabbits is 5 to 4.
The ratio 5 to 4 is written as 5:4.

white rabbits to brown rabbits:

5to4or5:4

The ratio of brown rabbits to
white rabbits is 4 to 5,0r 4:5.

These are part-to-part ratios.

The numbers 4 and 5 are the
terms of the ratio.

Order is important in a ratio.
51to 4 is not the same as 4 to 5.

» You can also use ratios to compare
the parts to the whole.

brown rabbits to all the rabbi

4to9or4:9o0r 3
This is a part-to-whole ratio.

white rabbits to all the rabbits:

5to9or5:90r %
This is a part-to-whole ratio.
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Kim is planting a border in her garden in Trail, BC.
She plants 5 yellow daisies for every 3 red petunias.
The ratio of daisies to petuniasis 5:3.

How many petunias would Kim plant

for each number of daisies?

+ 10 daisies + 15daisies  + 20 daisies

In each case, what is the ratio of daisies to petunias?

Here are 2 ways to solve the problem.

» You can use Colour Tiles to represent the plants.
Use yellow tiles to represent daisies.
Use red tiles to represent petunias.

+ Start with 10 yellow tiles.

For every 5 yellow tiles, you need 3 red tiles.
Arrange your yellow tiles into groups of 5 tiles.

You can make 2 groups.

So, you need 2 groups of 3 red tiles.
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That makes a total of 6 red tiles.
These represent 6 petunias.
The ratio of daisies to petunias is 10:6.

+ Add a group of 5 yellow tiles.
You now have 15 yellow tiles.
Add another group of 3 red tiles.
You now have 9 red tiles.
These represent 9 petunias.
The ratio of daisies to petunias is 15:9.

+ Add a group of 5 yellow tiles.
You now have 20 yellow tiles.
Add another group of 3 red tiles.
You now have 12 red tiles.
These represent 12 petunias.
The ratio of daisies to petunias is 20:12.

» You can use a table and patterns to find the ratios.

There are 5 daisies for every 3 petunias.
10 daisies are 2 groups of 5 daisies.
15 daisies are 3 groups of 5 daisies.
20 daisies are 4 groups of 5 daisies.

So, to keep the balance, you need the same numbers of groups of petunias.
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So, to keep the balance, you need the same numbers of groups of petunias.
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<2~ \ The numbers
in the Daisies row
isies | 5 10 15 20 are maltiples of 5
Petunias 3 6 9 12
.
x3
x4

The numbers in the

Petunias row are
multiples of 3.

The ratios of daisies to petunias are:

10:6,15:9,and 20:12

Each ratio can be written as 5:3.

So, we say that 5:3,10:6,15:9,and 20:12

are equivalent ratios.
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